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INTERNATIONAL ECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2f9e TR ROY RYIT PN e W
Candidates should answer in their own words wdrordla Fred STIY TUNYT TNV WU
and adhere to the word limit as practicable Fav #farv)

1. 2x5=10
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Answasany five questions from the following:
e @-carcat ofsfb eiowz Taa wa:
(a) Differentiate between internal and international trade
e ¢ wewEe afireTe wrg sde @
(b) How does the idea of comparative advantage differs from that of absolute advantage”
GEREE AR Oy ¢ bEm R wres g e @& o
(¢) Mention two characteristics of trade indifference curve.
iferey facers e qib tafe) Soee @
(d) Distinguish between nominal and real exchange rates.
Wi ¢ epe R Qe vy 1w fF 7
(e) Distinguish between Balance of Trade and Balance of Payment.
M) S @ (FAHA S #A1d 7
(f) What T¥actor intensity reversal?
Tomrs fRRer taedie) F1e e 2
(g) Mention two non-tariff barriers of free trade.
& IMrers e 1 seT= IR Tre @
(h) What is Metzler Paradox?
(TR FOrETH INE A ¢

Answer any four questions from the following: 524 =20
frafeie @-ca oAl sves Sea we:
(a) Explain the concept of “effective rate of protection”.
AT A 22 010 6 cawan o s
(b) How can can you derive the clasticity of the offer curve of a country?
I (e ‘offer curve’ €3 fifeumee e fady sa 7
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(c) State and explain the basic assumptions of the Hecksher-Ohlin theory.
AR-Sfer ©eiba SRR YR G|
(d) Justify the statement “ Balance of payment always balances”.

fsfeie Sfeiba It wie - “wiewios @E=meE 7wt Fe! AU |

(e) What is meant by Leontief Paradox? Suggest any one explanation of this paradox. 3+2
frefbaz Forent Fre & QRIT ? 1 Foemba ATt 9 T 7S |
(f) What is meant by optimum tariff? Derive the formula of optimum tariff. 3+2
Y AR STF YT 0o & Q@RI 9 i wemifs @ @b & s -
3. Answer any two questions from the following: 10x2 =20
iR @-ceiet 4f6 evnm Tea me:
(@) () Show that gains from international trade can be decomposed into two 6+4

components — gains from exchange and gains from production specialization.

e @ SISE(fes Aifieg-erere 46 ot o T W - Rfwsive e @
TeomeTa e feaeeaiae )

(ii) Show a situation where entire gains from trade is due to specialization.

9T @3l T Rqe F@ @A Aewifes Aferatre 7o e vy Sl
Rei¥as @3 S 2

(b) Analyse the possibility of factor price equalization (a) without factor intensity
reversal, (b) with factor intensity reversal. y

TR Toliwinofem e Ao 2wl TRt 0 I - (F) Beotmra HATOR
Refexer spsifis, () Reifonder Boifis)

(c) Write a short note on foreign trade multiplier with repercussion.
BSOS TS W (TS SIwwifes qfter e Som wEFEe St e

(d) Analyse the partial equilibrium effect of an import quota. When will the effects of 6+4
tariff and quota be equivalent?

weEifes Al wrmiaa e e s s eor SiEmt
I S AfRTS fTEd 9R SEwi ST FAw FAT 92 (J 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

i
X

6061 2





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

